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Venn Diagram with 12,8, 7,3
or with 20 —x,x, 15—
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-1 each error/omission. Condone lack of labels.

v ft their 8 on diagram, but not x
Nt (their 12)/30 from (i) or (ii)
Sel for k/30 where k<30
 ft (their 12)/20 from (i) or (ii) if their12<20
Sel for m/20 where m <20

In all of Q7, accept fractions, decimals or %.
Mark as ISW for wrong cancelling. Dec. or %
need to be exact or accurate to 3 sf. No ratios.
Other inappropriate notation is ~1 once.

or6/9x 6/10 + 6/9x4/10 + 3/9x 6/10
vt 1—their (b)(i)

Allow aslip in 1 digit, but must use 4 fractions
multiplied.
Simplest 5/36

Alt. method. Must see all 14 combinations.
Dep. on first M1. Must add them

Simplest 17/20 17






